Where Florida Begins.

July 20, 2015

## <u>MEMORANDUM</u>

TO:

James R. McCain, Jr.

Corporation Secretary/Assistant General Counsel

THROUGH:

Kevin G. Stork, CPA, City Comptroller

FROM:

Thomas G. McKnight

Capital Improvement Construction Manager

SUBJECT:

Park Street Drainage

Contractor: JB Underground, Inc.

Contract No: 9600-11

Forwarded herewith for execution is Change Order No. 1 for subject project.

Original Contract Amount......\$116,500.06 Previous Change Order No. 0......\$0.00 Change Order No. 1 ...... (\$1,005.00) Total Revised Contract Amount ......\$115,495.06

Account Number ......See attached

This office recommends the Change Order be approved by your office, the Office of General Counsel, and Mayor Curry, in accordance with Executive Order No. 13-05.

Attachments: 1. Change Order

2. Back-up Information

3. Legal Request Memorandum

TGM:Iw

			J
			•
•	·		
		,	

## CHANGE ORDER TRACKING SHEET

Description of Project	Park St	Drav	
Change Order Number	j	0	PLEASE KEEP THIS FORM WITH
Contract Number	960011		THE ATTACHED CHANGE ORDER

	Action	Date Received	Date Signed	Date Forwarded	Signature	Days
· [	Date Initiated	N/A	N/A	(e/ 24)		
^ [						
2	Contractor Execution		4/24			
,	Construction Management	6/30				
,	Using Agency	7/7/15	7/10/15		the Day	
,	JEA (if applicable)				•	
3	City Engineer		7/15			
7	C/O Review	6/30	6/30		Del	
3	Director of Public Works	7/16	7/16			
9	Admin/Finance Clerk	7/22	7/22		RAP	
٥	Buyer	7/23	7/24	7/24		
1	Chief of Procurement					
2	Director Finance	7/28	7/29	7/30	n	
3	Asst. General Counsel		,			
4	CAO/Mayor	V/3/1/6	8/03/4	8/01/19	day	
5	Asst. General Counsel					
	Total Processing Days:	<u> </u>				<del> </del>

Attention Change Order reviewers and signatories:

Please assist in expediting this change order by reviewing, signing, and forwarding immediately to the next step. Thank you in advance for your efforts to reduce contract change order processing times.

James M. Robinson, P.E. Director of Public Works 

## CITY OF JACKSONVILLE DEPARTMENT OF PUBLIC WORKS ENGINEERING DIVISION CONSTRUCTION CHANGE ORDER

Change Order No.	One (1) Date June 24, 2015
Description of Project	Park Street Drainage Improvements
Name of Contractor	JB Underground, Inc.
Contractor's Address	17053 Oak Hill Road, Hilliard, FL 32046
Contract No. 9600-11	
Account No. PWCP462	SD-069505-PW009-02 Original Contract \$116,500.06
+ Previous Change Order	
*See attached appendix	for additional listings.  TOTAL REVISED CONTRACT \$115,495.06
Bid Number JCF-006	
	Revised Construction Completion Date
	Contract Expiration Date June 8, 2015
	Revised Contract Expiration Date August 7, 2015
CONTRACTOR shall mal	al Conditions of above-referenced contract, CONTRACTOR and OWNER do both hereby agree that the ke the following changes, additions or deletions to the Work specified in the plans and specifications: See apensable calendar days to contract expiration date.
Justification: See attached	
The Issuing Authority has necessary and all costs are	s looked over cost and pricing data for this change order and has determined that this change order is reasonable.
Accepted for Contractor	JB Underground, Inc.
	Ch. I garlotton
Signed Signed	Attest // My// You
Title PResid	Title V. C. Glerdes 25.02.
Date 6/26/2	20/5 Date 4/4/5 go. o
	Authority  Date  Construction Mgmt Div.  By  Thomas G. McKnight.  Date  Thomas G. McKnight.
Issuing	Authority  By Thomas G. McKnight.  Capital Improvement Construction Manager  Capital Improvement Construction Manager
	Vay and Grounds Maintenance By Survey and Grounds Maintenance By
Using 1	Vay and Grounds Maintenance By Div/Department Head Date To Sun Div Nepartment Head Date To Sun Div Nepartment Head Div Nepartment Head Date To Sun Div Nepartment Head Div Nepartm
Chief, Engineering & Cons	Hydrion/Mgmt Div. Date Assistant Counsel Date
Lan. (6	2/1/1/ Sound Mound & Stocks
Director of Public Works	Date Mayor Date
My Mu	un 7/27/15 James R. M. Can STOF INO
Chief of Procurement	Date Corporation Secretary Dataset
Director of Finance	Date Date
,	-11 40 1 PB
	v ·

and the second s



NBR	MASTER ITEM DESCRIPTION	QUANTITY	UOM	UNIT COST	NET ADDITION	NET DELETION	
	RECONCILE FINAL QUANTITIES						
1	ITEM# DESCRIPTION						
	7 HAULING & DISPOSAL (CONTINGENCY)	-25	CY	\$18.00		(\$450.00)	
	8 OVER EXCAVATE (CONTINGENCY)	-25	CY	\$12.00		(\$300.00)	
	9 A-3 SAND (CONTINGENCY)	-25	CY	\$21.00		(\$525.00)	
	JUSTIFICATION: Reconcile final quantities. Contingency item	ns not installe	d.				
	TOTAL RECONCILE FINAL QUANTITIES						(\$1,275.00)
	ADDITIONAL SCOPE:						
	15 CITY STANDARD CURB & GUTTER	20	LF	\$13.50	\$270.00		
	JUSTIFICATION: Additional curb & gutter replaced along wes added to project due to pre-construction condition and outside				on of Park and Pin	e Grove	
	TOTAL ADDITIONAL SCOPE:						\$270.00
SUBT	OTAL CHANGE ORDER NO. 1				\$270.00	(\$1,275.00)	
NET	FOTAL CHANGE ORDER NO. 1	م	. Λ		(\$1,005.00)		
		3	EB				

 $g_{\mu\nu} = \frac{\partial g_{\mu\nu}}{\partial x_{\mu}} g_{\mu\nu} K_{\mu\nu} \partial x_{\nu}$  (2)

## to provide the control of the state of the s

The second of the second of the second

tura,

										ì		<del> </del>	5 / final	<del></del>
		<b> </b> -	rioj	ect Name:	PARK ST. DR	RAINAGE IMP	PROVEMENTS	<del>}</del>	<u> </u>	APPLICATION	ON DATE	<b> </b>	6/15/2015	<u> </u>
City / Stae	HILLIARD FL. 32046		<del> </del>	ļi		ļ		<b> </b> -	<b></b>	CITYPON	NUMBER	<b> </b>	JCF-0066-14	<b></b>
Office Pho	904-879-2083	<del></del>			<b></b> _		<del></del>	<b></b>	<u> </u>		<del> </del>			<u> </u>
	्रसीर्द्राहर्ति स्टब्स्ट्रेस्ट्राहरू केंद्र 👢 स्टब्स्ट्रेस्ट्रीय 🛴 🧸 १९५०)	15,7178,01			· · · ·	D			E		0		Н	<u>'</u>
TIEM MO,	DESCRIPTION OF WORK	ESTIMATED COUNTRY	UNIT	UNIT PRICE	- TÓTAL ESTIMATED VALUE	COMPLETED PREVIOUS OTY.	VÁLUE	QTY.	VALUE	MAYERMALS PRESENTLY STORED (NOT IN D OR E)	TOTAL COMPLETED AND STORED TO DATE	(G-C)	BALANCE TO FINISH (C - G)	RETAINAGE 5%
1	MOBILIZATION	1	1.5	\$8,000.00	\$8,000.00	11	\$8,000.00	0	\$0.00	\$0.00	\$8,000 (x)	100%	50 00	\$ 400
2	SITE PREPARATION	11	LS	\$6,800.00	\$6,800.00	1	\$6,800,00	0_	\$0.00	\$0.00	\$6.800 DX	100%	so oo	\$ 340
_ 3	MAINTENANCE OF TRAFFIC		LS	\$3,800,00	\$3,800 00	11	\$3,800.00	0	\$0.00	\$0.00	\$3,800.00	100%	\$0.00	\$ 190
_4_	EROSION CONTROL	1	LS	\$1,800.00	\$1,800.00	1	\$1,800.00		\$0.00	\$0.00	\$1.800.0c	100%	\$0.00	\$ 90
5	AS-BUILT PRODUCTION	1	LS	\$2,900.00	\$2,900.00	1	\$2,900.00		\$0,00	\$0.00	\$2,900.00	100%	\$0.00	\$ 145
N. CO.	Lettering with the Later of the Control of the Cont			Salin Nor	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Service Services	7	Sec. 10	**	0.00	G (46-52-6)	3.00	3.5 (S. 10)	
6	REGULAR EXCAVATION AND FILL		LS.	\$7,965.00	\$7,965.00	1_1_	\$7,965.00		\$0.00	\$0.00	\$7.965.00	100%	\$0.00	\$ 398
_ 7	HAULING AND DISPOSAL OF UNSUITABLE (CONTINGENCY)	25	CY	\$1B 00	\$450,00	0	\$0,00		\$0.00	\$0.00	\$0.00	0%	\$450.00	5
8	OVER EXCAVATION AND FILL ( CONTINGENCY)	25	CY	\$12.00	\$300.00	<u> </u>	\$0.00	0	\$0.00	\$0.00	\$0.00	0%	\$300 00	3
9	A-3 SAND (CONTINGENCY)	25	CY	\$21.00	\$525.00	0	\$0.00	<u> </u>	\$0.00	\$0.00	\$0.00	0%	\$525.00	s
and the same	The state of the s			7			n in the	mark to A	Liver in the	1	The Control	ALC: U		100 m
10	MILL EXISTING ASPHALT (DEPTH VARIES 0"-1"	2.070	SY	\$2.11	\$4,367.70	2070	\$4,367,70	0	\$0.00	\$0.00	\$4,367.70	0%	\$0.00	\$ 218
11	S-3 ASPHALT CONCRETE THICKNESS VARIES 1" MINIMUM	2,070	SY.	\$8.00	\$16,560.00	2070	\$16.560.00	0	\$0.00	\$0.00	\$16,560.00	100%	\$0.00	<b>\$</b> 828
12	12" STABILIZED SUBGRADE	165	SY	\$4 00	\$660.00	165	\$660.00	0	\$0.00	\$0.00	\$660.00	100%	\$0.00	\$ 33
13	4" COMPACTED LIMEROCK BASE		SY	\$269.00	\$1,076.00		\$1,076,00	0	\$0.00	\$0.00	\$1,076.00	100%	\$0.00	5 53
14	COJ CASE X PAVEMENT REPAIR (PERMANMENT)	145	SY	\$29 00	\$4,205.00	145	\$4,205.00	0	\$0.00	\$0.00	\$4,205.00	100%	\$0 00	\$ 210
15	CITY STANDARD CURB AND GUTTER	370	LF	\$13.50	\$4,995.00	370	\$4,995,00	20	\$270.00	s0 00	\$5,265.00	105%	(\$270.00)	\$ 26:
16	CITY STANDARD MIAMI CURB & GUTTER	84	LF.	\$13.21	\$1,109.64		\$1,109.64	-	\$0.00	\$0.00	\$1,109.64	100%	\$0.00	<b>S</b> 58
17	CITY STANDARD DROP CURB AND GUTTER	57	LF	\$13.21	\$752.97	57	\$752.97		\$0.00	50 00	\$752 97	100%	SO 00	s 3
18	RIBBON CURB	5	LF.	\$85.00	\$425.00	5	\$425.00	-	\$0.00	\$0.00	\$425 00	100%	50 00	5 2
19	CURB TRANSTIONS	65	ĻF	\$15.00	\$975.00	65	\$975.00		\$0.00	\$0.00	\$975.00	100%	\$0.00	5 4
20	RELOCATE EXISTING LANDSCAPING TIMBERS	11-	LS	\$350.00	\$350.00	1-	\$350.00	0	\$0.00	\$0.00	\$350 00	100%	\$0.00	S1
21	CONCRETE SIDEWALK (4")	70	SY	\$39.00	\$2,730.00	70	\$2,730.00	-0-	\$0.00	\$0.00	\$2,730.00	100%	\$0.00	<b>5</b> 13
22	CONCRETE DRIVEWAY (5")	85	SY	\$49.00	\$4,165.00	85	\$4,165.00	0	\$0.00	\$0.00	\$4,165.00	100%	50 00	\$ 20
23	CITY STANDARD J-1 MANHOLE	1	EA	\$1,986.00	\$1,986.00	1	\$1,986.00	0	\$0.00	\$0.00	\$1,986.00	100%	\$0.00	s 9
_24	CITY STANDARD TYPE C-INLET	1	EĄ.	\$1,800.00	\$1,800.00	<u> </u>	\$1,800.00	0	\$0.00	\$0 00	\$1,800.00	100%	50 00	s 9

25	CITY STANDARD CURB INLET	3 (6) (8) (8)	EA 5	\$2,115.00	\$6,345.00	3 ``\$\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	\$6,345.00	0 	\$0.00	\$0.00	\$6,345.00	100%	\$0.00	<u> </u>	317.25
26	CITY STANDARD DOUBLE CURB INLET		EA	\$4,128.00	\$4,128.00	1	\$4,128.00	D D	\$0.00	\$0.00	\$4,128.00	100%	\$0.00	3	208 40
27	12X18 ERCP DRAINAGE PIPE	99	LF	\$31.25	\$3,093.75	99	\$3,093.75	0	\$0.00	\$0.00	\$3.093.75	100%	\$0.00	s	154 69
1	ATT DON ON ANIMACE DIFF	30	LF	529.00	\$870.00	30	\$870.00		\$0.00	50 00	*****	4000			
28	15° RCP DRAINAGE PIPE	30 53	-12-5	254.00	. Marian -		\$470.00 **********************************				\$870.00	100%	\$0.00	3	43 50
28	18" RCP DRANAGE		LF	\$34.00	\$272.00		\$272.00	ð	\$0.00	\$0.00	\$272.00	100%	\$0.00	<u> </u>	13.60
30	#57 STONE FOR DEWATERING (CONTINGENCY)	18	СУ	\$155.00	\$2,790.00	18	\$2,790.00	0	\$0.00	\$0.00	\$2,790.00	100%	\$0.00	\$	139.50
			1	1 Ben 60	100.00		9000.00	242	1000	\$0.88	900000	100%	\$0.00	2	25.00
かりを	COMMECT PROPOSED 15" RCP TO EXISTING BOX CULVERT	<b>建四部</b>	含	\$800.00	消滅學生	Section .	· · · · · · · · · · · · · · · · · · ·	15 97 95 ·	The state of the s	This gray	<b>的数据</b> 的	nday.	र्व कुछ।		23.00
· \$2 ^ · ·	CONNECT PROPOSED 15" RCP TO EXISTING BOX CULVERT	<b>1</b>	EA	\$800.00	\$800.00	<b>1</b>	\$800,00	0	\$0.00	\$0.00	\$800.00	100%	\$0.00	\$	40.00
33	CONNECT PROPOSED 12X18 ERCP TO E-1	1 NOTES (FEDERAL)	EA	\$800.00	\$800.00	1 (133949	\$800.00	0	\$0.00	\$0.00	\$800.00	100%	\$0.00	3	40.00
34	CONNECT EXISTING IS RCP TO 8-1		E	\$250.00	\$250.00		\$250.00	Ď	\$0.00	\$0.00	\$250.00	100%	\$0.00	3	12.50
. 35	CONNECT EXISTING 12" RCP TO S-3	,	   EA	\$250.00	\$250.00	1	\$250.00		\$0.00	\$0.00	\$250 CC	100%	\$0.00		12 50
		_				_							30.00	-	12 30
36	REPAIR EXISTING FLUME WITH GROUT	2	CF	\$25.00	\$50.00	2	\$50.00	0	\$0.00	\$0.00	\$50.00 n	100%	\$0.00	5	2 50
37	GROUT FILL AND PLUG EXISTING 18" TC PIPE	175	CF	\$25.00	\$4,375.00	175	\$4,375.00	00	\$0.00	\$0 00	\$4,375.00	100%	\$0.00	5	218 75
38	GROUT FILL EXISTING 12" PVC	75	CF	\$25.00	\$1,875.00	75	\$1,875.00	0 .	\$0.00	\$0.00	\$1,875.00	100%	\$0.00	s	93.75
. 1 201 25 22 1	A STATE OF THE STA	-	4.5	Service Control	Lucia in it	ation plans	the state of	200	V. A. S.	Albert W.	-	- 18 m	Different Park	<b>80</b> 7.	新 <b>多</b> 社
	3											-		<del>                                     </del>	
39	TRAFFIC STRIPE SOLID THERMOPLASTIC WHITE (24")	26	LF.	\$30.00	\$780.00	26	\$780 00	. 0	\$0.00	SO 00	\$780.00	100%	50 00	\$	39 00
40	TRAFFIC STRIPE SOLID THERMOPLASTIC YELLOW 6"	690	LF	\$3.25	\$2,242.50	690	\$2,242 50	0	\$0.00	\$0.00	\$2,242.50	100%	\$0.00	s	112 13
41	RETROREFLECTIVE PAVEMENT MARKING'S	24	EA	\$11.00	\$264.00	24	\$264.00	0	\$0.00	\$0.00	\$264.00	100%	\$0.00	,	13.20
and the same of	Continues and the Continues of the Conti		Char	0.7	was in the		S. Park	موسية المعالمة	1	3-12-	-	34 35		<i>E</i> ), 15,	200
										<u> </u>			<del></del>		
42	RED CYPRESS MULCH	2	CY	\$150.00	\$300.00	2	\$300.00	0	\$0.00	\$0.00	\$300.00	100%	\$0.00	5	15 00
43	SODDING (BAHIA)	475	SY	\$4.50	\$2,137.50	475	\$2,137.50	0.	\$0.00	\$0.00	\$2,137.50	100%	\$0.00	3	106.88
400	Contraction of U. I. Short and Assessment	e de la	ខន្	and and		Service S		No.		1			<b>36.00</b>		不完
	AD HIST CHICTING WATER METERS		<u>.</u> .		e4 000 00								<u> </u>		<u> </u>
44	ADJUST EXISTING WATER METER'S	4	EA	\$450.00	\$1,800.00	4	\$1,800.00	0	\$0.00	\$6.00	\$1,800.00	100%	\$0.00	5	90 00
45	RELOCATE EXISTING WATER METER	1	EA	\$980.00	\$980.00	11	\$980 00	0_	\$0.00	\$0.00	\$980.00	100%	\$0.00	5	49 00
46	REMOVE AND REPLACE EXISTING SEWER SERVICE (CONTINGENCY)	1	EA	\$2,900.00	\$2,900.00	1	\$2,900.00	0	\$0.00	\$0.00	\$2,900 00	100%	\$0.00	s	145 00
	三次性的特殊的自然基本的特殊。	(	13		y	<u>.</u>									
			L	I	\$116,500.06	\$0.00	\$115,225.06	<u> </u>	\$270.00	\$0.00	\$115,495.06	\$0.99	\$1,005.00	,	5 774 75

- - -